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This is an example of a large circle.
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For the circle the following is true:
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The B�ezier curve for the circle is:
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We need more information to �t the curve to the circle, so let the curve and the circle touch halfway around

the arc. Also let the curve be symmetrical. The point halfway around is [x
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Since the curve is symmetrical the following is true.
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The problem is to draw a circle using only the curveto. For most circles four curves are required. For a

circle with a radius of 234 points the maximum error is 0.2657 pixel at 300 bpi.

The B�ezier curve in equation space is:
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Solve for c.
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The B�ezier curve in terms of the control points is:
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